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101 Problems in Calculating Derivatives Using the Chain Rule with Solutions
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1
(1+x2) arctan(x)

f(x) =

f, (X) _ 6(In(2x)+In(x))?

X

f'(x) = 3cos(3x)

f'(x) = 3sec *(3x)

f1G) = ~2x% sin (x+)

f'(x) = 2sin(x) cos(x)

f'(x) = 4tan 3(x) sec 2(x)
£1(x) = —10x cos *(x?) sin(x?)
£/(x) = e* cos(e*)

[l =—

1+9x2

, __ 6arctan(x)

f'e) = 1+9x2
2.,

__ 6xarcsin (x?)

f’(X) - Vi—x*

, __ cos(arctan(x))
f (x) - 1+4+x2
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' _ 1
f (X) ~ Vi-xZarcsin(x)

f'() = =2(In *(x*) = In(x)) (M)

r=-tsn(s
f'(x) = 2x cos(x?)

f'(x) = 5x*sec *(x°)

£1(x) = —3cos (x) sin(x)

f'(x) = 10x sin *(x?) cos(x?)
f'(x) = 20x* tan *(x%) sec *(x%)
f'(x) = e**sec *(e**)

f, (x) __ 2arctan(x)

1+x2

3arcsin 2(x)
f) =—=—
fe)=5ms
, __sec 2(arcsin(x))
Fe) ="
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cos(x)

f'(x) = Tesin 209
f’(X) B \ll—arct:os 2(x) (\/1__1’(2)
f'(x) = cot(x)

f'(x) = sec (sin(x)) cos(x)
F100) = 8x(x? +3)3(x2 + 2)7 + 3x(x? + 3)*(x% + 2)7

f'(x) = %xz O3 + 172 (x% + 1D* + 8x(x3 + 1)3(x? + 1)3

f'(x) = e* tan %(x)[2tan(x) + 3 sec *(x)]
, __ 2e%*sin(3x)+3 cos(3x)e?*

f (o) = sin 2(3x)

f'(x) = —4 sin(4x)ecsx)

f'(x) = —65sin(2x) cos(cos(2x)) sin %(cos(2x))

. f'(x) = —8xes"™* cos(x?) tan(es"*?)) In 3(cos(esm(xz)))

100. r = () =
24x3 cos (sin 2(sin 3(x“))) (sin(sin *(x*))) (cos(sin 3(x*)))(sin 2(x*))(cos(x*)) 101. f (X) - 2ﬁ(1+sin z(ln(e‘&)))
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sec 2(x)

f'(x) B ,1—tan 2(x)

, _ 1 1
f (o) = 1+arcsin 2(x) (v1—x2)

' _ ;
f'x) = T
f’(X) = 9x2(x3 + 1)2(5 + x2)4 + 8x(x3 + 1)3(5 + xz):
F100) = 2(x2 + 201 2x + 1) (=x? + 23)2 +

+(x? + x)? ; (—x?% + x3)%(—2x + 3x)2
f'(x) = 2cos(2x) cos(3x) — 3 sin(2x) sin(3x)

f'(X) = Sx(xz+3)3(xz"'2)%"'39‘(962+2)%(ch+3)4

(x2+2)3
arctan(3x) _3 In(4x)
' _ x 14+9x2
f (o) = arctan 2(3x)
etan(ln(Bx)) sec 2(1n(3x))
fx) =

X

f'(x) = 12 cos(3x) tan 3(lrl(es”‘(3"))) sec *(In(esnG))

—-20 sin(In(5x)) arctan 3(cos(In(5x)))
x(1+cos 2(In(5x)))

cos(ln(e‘/}))

f'(x) =

“Only he who never plays, never loses.”
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